Questions

Q1.

Some questions must be answered with a cross in a box (X). If you change your mind
about an answer, put a line through the box (#)and then mark your new answer with
a cross (X).

Use the data to support your answers where relevant. You may annotate and include
diagrams in your answers.

Disney+ is a streaming service that distributes films and television series produced by the Walt
Disney Studios.

Disney+ subscribers (million)

November 2019 10
December 2019 26.5
February 2020 28.6

April 2020 50

(a) Ceteris paribus, the most likely consequence of the above data is that Disney+ will
experience an increase in its:

A fixed costs

income elasticity of demand

O 0O 0O
w

C price elasticity of demand
[l D revenue

(b) Draw a supply and demand diagram to show the likely effect of the change in the number of
subscribers on the market equilibrium for Disney+ services.



(Total for question = 5 marks)

Q2.

Answer the question with a cross in the box you think is correct X. If you change your
mind about an answer, put a line through the box # and then mark your new answer
with a cross X.

Patrick Street Productions produces musicals. Its latest production is 'lt's a Wonderful Life' and
the total cost of this production is $200 000. The ticket price is $40. The theatre has a capacity
of 300 seats. The company aims for revenue maximisation. If this is achieved, revenue from

ticket sales will cover 30% of total costs. Charitable donations contribute 12.5% towards total
cost and a government subsidy ensures the production covers all of its costs.

(a) Calculate the total revenue from ticket sales for 'lt's a Wonderful Life', assuming it is shown
only five times, all at full capacity. You are advised to show your working.



(b) Calculate the value of the government subsidy necessary for this production to cover all of
its costs.

(c) Which one of the following conditions is necessary for revenue maximisation to occur?

A Average revenue equals average cost
B Average revenue equals marginal cost

Marginal revenue equals average revenue

O O O O
)

D Marginal revenue equals zero



(Total for question = 5 marks)

Q3.

The number of individual weekly ticket sales from UK National Lottery games operated by
Camelot was 73 million in the financial year 2015-2016.

The sale price of each lottery ticket was £2. This figure included 24 pence of tax revenue on
each ticket sold.

(a) Calculate the weekly revenue received by Camelot after paying the tax to the government.
You are advised to show your working.



Research conducted for HMRC estimated the cross elasticity of demand for using gaming
machines to be 1.28 in response to changes in the price of national lottery tickets.

In October 2013 Camelot increased the price of a national lottery ticket from £1 to £2.

(b) Explain the likely impact of the price increase of national lottery tickets on the demand for
using gaming machines.

In 2016 a coastal flood defence scheme was completed at Broomhill Sands in Kent, protecting



people, homes and businesses. A £30 million,grant from the National Lottery paid for the
scheme.

(c) The most likely reason for this grant is to ensure the:

A exclusivity of Broomhill Sands

B provision of a private good

provision of a public good

O O O O
o)

D rivalry of Broomhill Sands

(Total for question = 5 marks)

Q4.
Read Figures 1 to 4 and extracts C and D before answering this question.
The German economy

Figure 1: German government budget balance, percentage of GDP, 2010 to 2019
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Figure 2: German national debt, percentage of GDP, 2010 to 2019
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Figure 3: Annual percentage change in real GDP, Germany and average of developed
economies, 2005 to 2021 (forecasted data for 2020 and 2021)
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Figure 4: Unemployment rate in Germany, percentage of labour force, 2005 to 2020
(2020 figure is forecasted)
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Extract C

Why Germany keeps to budget rules despite a slowdown in growth

Germany's economic boom is over, as it has entered recession. During the last ten years
of economic growth well over 4 million jobs were created.

The fear of recession has revived a debate in Germany: should the government spend

more to stimulate growth? It is written into the German constitution that the fiscal 5
deficit cannot be greater than 0.35% of GDP. once the effects of the economic cycle have

been removed. Germany's budget has been in surplus since 2014 and the government

is always reluctant to increase spending which would create a deficit. In 2018, aided

by booming employment and low interest costs on existing debt, the budget ran to a

surplus 1.9% of GDP. 10

Germany's main trading partners have long been angered by German fiscal policy. The
French President criticised Germany's budget and current account surpluses that “always
occur at the expense of others”.

Large parts of Germany's infrastructure need significant investment. As the economy

has slowed, a decision to run a balanced-budget policy has become harder to defend. In 15
wealthy regions of Germany, crumbling schools have been closed for fear of collapse, and
information and mobile technology on a wide scale needs to be modernised. The World
Economic Forum reported that accessibility of fibre optic broadband also “remains the

privilege of the few”. However, private sector firms, such as major motor manufacturers,

are still willing to invest in new technology and the profitability of some of these 20
firms, in the long run, benefits as a result.

The state development bank puts Germany's investment shortfall at €138 billion (£120

billion). Arguments for a much more expansionary fiscal policy have failed to influence
government policy. Big government programmes, such as a recent package to reduce

Germany's carbon emissions, are only implemented when they satisfy fiscal rules. 25

Extract D

For more help, please visit www.exampaperspractice.co.uk



Germany drops to number 7 in the Global Competitiveness Index
Despite being the largest economy in the European Union, Germany's competitiveness is
declining, according to the World Economic Forum (WEF). Germany dropped four places
in the WEF's Global Competitiveness Index, coming in as the seventh-most competitive

economy. Out of the 103 indicators used in the report, Germany received lower scores in 5
53 areas in 2019,

(a) Explain one reason why a country such as Germany wants to avoid an increase in the
national debt relative to GDP (Figure 2).

(b) Examine two likely effects of the forecast change in the rate of unemployment between
2019 to 2020, on firms in Germany. Refer to Figure 4 in your answer.

(c) Discuss the likely impact of investment in new technology on the profitability of firms in
Germany, as described in Extract C line 20. Use a cost and revenue diagram to support your
answer.

EITHER

(d) Evaluate the microeconomic and macroeconomic factors which are likely to determine the
rate of economic growth in Germany relative to other developed economies.

OR

(e) Evaluate the microeconomic and macroeconomic impacts of 'a much more expansionary
fiscal policy' (Extract C line 23) on the German economy.

(Total for question = 50 marks)

Q5.

Francesca owns and runs a beauty salon. The diagram shows the cost and revenue curves for
treatments at her beauty salon. Francesca sets her prices using profit maximisation.
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(a) Calculate the change in total revenue if Francesca changes her objective from profit
maximisation to sales maximisation.

(b) As demand for beauty treatments increased, Francesca decided to take on additional staff. A
likely advantage of applying the division of labour is a reduction in

A levels of production
B boredom within the workforce
C costs of production per treatment

D output per worker
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Answer

(Total for question = 5 marks)

Q6.

Use the data to support your answers where relevant. You may annotate and include
diagrams in your answers.

The UK Rail Industry

Figure 1: UK government subsidy to Northern, a train operating company in Northern
England
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Figure 2: Rail passenger kilometres travelled per year in the UK, billions
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Figure 3: Price of a single off-peak train journey, Edinburgh to Leeds Saturday 22"
December 2018 19:00 hours

Adult Young Persons (16-25) Railcard
£105.30 £69.50
(Source: https://www.Iner.co.uk/buy-tickets/booking-engine)

Extract A

The case for nationalisation
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Privatisation has not made the rail industry cheapg_rh:fo‘__qﬁ_ F{_g,_r‘atg},“dT:;_spite the promise
from one government source that it would see private companies bringing: “more
competition, greater efficiency and a wider choice of services".

One reason, suggest the critics, is fragmentation. Instead of pushing British Rail into 5
the private sector as a single supplier the government chose to break it into three

components of track, train operators and rolling stock i.e. the trains and carriages. This

has encouraged each part of the rail industry to prioritise its own profits rather than
collaborating to improve the system.

Privatisation, meanwhile, never really worked. The rail network of 2 500 stations and 10
32000km of tracks was renationalised in 2001. This has encouraged the government’s

transport secretary, a supporter of private sector involvement, to argue that the state

Network Rail monopoly should be removed so that companies can bid to build new rail

lines to upgrade the railway.

The privately-owned train operators are now the subject of fierce criticism, due to 15
overcrowding and cancelled services. Private companies are supposed to compete to

win a bid to be the train operator for a region for a short number of years. However in

recent years the number of private companies bidding or renewing their contract as

rail operators has fallen. In May 2018 the government rescued the East Coast line by
renationalising it. The line had been run by the private rail operator Virgin Rail, which was 20
suffering lower passenger numbers and revenue than forecast.

Some argue that there is a simple solution: reunite track and train in the only feasible
manner, nationalisation.

Extract B

Southern Rail boss paid £495 000

The Chief Executive of Southern Rail, the private-sector train operator that has become
associated with delays, losses, cancellations and strikes, was paid £495000 last year. This
increased calls for nationalisation and a maximum wage for executives at companies

with government contracts. In contrast the average base pay for a train driver in the UK is 5
£47 705, although they can earn up to £63 000.

Nearly a third of Southern Rail trains were late in 2016 as it tried to deal with a labour

dispute that involved extensive strike action. The rail trade unions are opposed to

planned changes to the role of train guards, which they claim will put passenger safety

at risk. 10

(a) Refer to Figure 1. Explain the likely effect of the change in subsidy levels between 2017 and
2018 on rail fares.

Include a supply and demand diagram in your answer.

(b) With reference to Figure 2, examine two possible factors which may have influenced
demand for rail travel since 2008.

(c) Assess whether complete nationalisation of the rail industry might protect employees.

For more help, please visit www.exampaperspractice.co.uk




(d) With reference to Extract A, paragraph 3, discuss whether the rail network can be
considered to be a natural monopoly.

(e) Discuss the likely benefits of price discrimination to rail passengers. Use a diagram to
Support your answer.

(Total for question = 50 marks)

Q7.

Use the data to support your answers where relevant. You may annotate and include
diagrams in your answers.

The International Energy Agency has predicted that oil use by cars will peak in 2025 because of
the increasing number of drivers switching to electric vehicles.

Evaluate the likely microeconomic consequences of consumers shifting from vehicles powered
by fuel obtained from oil to electric-powered vehicles.

(Total for question = 25 marks)

Q8.
Mozambique

Figure 2: Interest rates (bank rate of the central bank) and inflation rates of selected
African countries, 2017



B
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Selected country Central bank Inflationratec7/(c
rate of interest (CPIl measure)
Congo (D.R)) 14% 13.8%
Ghana 21% 9.1%
Kenya 10% 10.1%
Malawi 18% 21.4%
Mozambique 21.75% 18.0%
Nigeria 14% 21.1%

Extract D

Rising debt levels in Africa

Increases in national debt have brought several African governments towards a
debt-servicing crisis when the repayment of debt and interest become unsustainable.
Between 2010 and 2015, many sub-Saharan countries raised debt totalling more than
£20 billion. Back then, with commodity prices soaring and foreign loans available at very
low interest rates, everyone agreed that borrowing was the way to grow an economy
with expansionary fiscal policy. Since 2015, some African governments — beneficiaries of
big debt write-offs at the start of the century — have taken to private debt markets too
eagerly, leaving them with heavy repayment schedules at a time of lower commodity
prices.

Until recently, the International Monetary Fund (IMF) has played down African debt
concerns, pointing to better management of public resources and greater transparency.
But it was shaken by Mozambique’s default on more than £2 billion of secret loans used
to purchase a non-existent tuna-fishing fleet, raising fears of hidden debt in other African
countries with similar levels of corruption. The median level of debt in sub-Saharan Africa
had risen sharply from 34% of gross domestic product in 2013 to 48% in 2017. Although
that is low by international standards, analysts said debt burdens were heavier than they
appeared because of most African countries’ low tax base. “The real thing to look for is
debt to revenue, or debt-service as a percentage of government spending,” said John
Ashbourne, Africa Economist at Capital Economics. In several countries, he said, debt
payments were above 20% of government revenue, with an opportunity cost in terms of
government spending.

Extract E

Mozambique's economic stability is being put to the test

For more help, please visit www.exampaperspractice.co.uk
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The economy of Mozambique, which gained independeﬁce from P-:l;rtugal in 1975,

AM PAPERS PRACTIC
has continued to under-perform. Large-scale emigration, especially of skilled workers,
economic dependence on South Africa, a severe drought, a prolonged civil war
and political tensions have hindered the country’s development. More than half of

Mozambique’s 26 million people continue to live below the poverty line.

GDP growth declined to 3.6% in 2016 due to fiscal tightening and a slowdown in foreign
direct investment. A weak manufacturing sector employs just 3.2% of the population,
and is made up of small enterprises (90%), many of which were set up with the aid of
microfinance. Traditional export earnings dropped due to depressed global demand.

In addition a wide-scale drought seriously affected agricultural production. Foreign
currency inflows have weakened - as large-scale gas projects were put on hold, and 14
external lenders suspended direct budget support, as a lesson to be learned from the
tuna-fleet scandal. The state budget deficit was 10.7% of GDP in 2017. High interest rates
have reduced aggregate demand, and import costs added to inflation following further
depreciation of Mozambique's currency, the metical, to a new low of 100 meticals to £1.

Mozambique needs urgently to improve its investment environment and confidence
in its institutions. The World Economic Forum's global competitiveness ranking placed
Mozambique 136 out of 137 countries.

Longer term, Mozambigue’s economic prospects are promising. There has been
progress in talks on restoring international confidence in the government’s running of
the economy, leading to a lasting and sustainable agreement between rival political
groups. The development of gas fields off Mozambique's coast discovered in 2011 is
set to transform the economy, coming into production in the 2020s. A rise in coal and
electricity exports should help growth to increase. But in the short term, it remains
uncertain whether Mozambique can deliver badly needed economic stability.

Extract F

Microfinance in Mozambique

Microfinance in Mozambique started in the late 1980s through projects initiated by
international relief organisations. The sector has expanded to include many private banks
and non-government organisations (NGOs), see Figure 3. This has resulted in wider use
(over 100000 borrowers) and many new business start-ups which could not have gained
finance from any other source. Evidence suggests that there is unfulfilled demand for
microfinance and a large potential for expansion.

Figure 3: The cost of microfinance loans in Mozambique, 2015

For more help, please visit www.exampaperspractice.co.uk
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(a) With reference to Extract D line 21, explain why 'opportunity cost' is a problem for
governments of developing countries when servicing debt.

(b) Examine two reasons, apart from access to finance, why 90% of the manufacturing sector in
Mozambique 'is made up of small enterprises' (Extract E, line 9).

(c) Discuss whether borrowers benefit from microfinance. Make reference to Mozambique in
your answer.

EITHER

(d) Evaluate the microeconomic and macroeconomic factors, apart from access to credit and
banking, influencing growth and development in Mozambique.

OR

(e) Evaluate the likely microeconomic and macroeconomic effects of relatively high inflation
rates in many African countries.



(Total for question = 50 marks)

Q9.
Branded coffee shops

Figure 1: Market share of UK branded coffee shops, 2015, percentages
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Figure 2: Number of Starbucks coffee shops worldwide, 2003-2016
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Figure 3: Price comparison in selected London coffee retailers, February 2017

Coffee style Starbucks | Costa Coffee | Caffé Nero Greggs McDonald’s

Espresso Double £2.00 £2.00 £1.70 £1.65 £0.99

Latte Medium £2.60 £2.50 £2.50 £1.80 £1.79

Latte Large £2.80 £2.70 £2.80 £2.10 £2.09
Extract A

Starbucks in Britain - a loss-making business?

For more help, please visit www.exampaperspractice.co.uk




B

Coffee shops are among the most profitable parts of t)i(]e f-::-ud and dnnk mdustry, and few
are doing quite as well as Starbucks, a Us-based transnational ::ompa.r‘.)-l Starbucks may
be complaining of adverse global market conditions but that did not stop the world's
biggest coffee chain from reporting record annual profits in 2016. It made a profit of
almost US54.2 billion for the year, up 16% on 2015. That was mainly the result of a strong
performance in its biggest market, America, where revenue rose 11%. The fastest growth
was in the China and Asia Pacific region, with revenue up 23%. Howard Schultz, the CEQ
of Starbucks, said its Chinese coffee shops were the most efficient and profitable. While
Starbucks still makes most of its profit in the US, Mr Schultz has said expansion in China
will secure its future for “decades to come” and announced plans to more than double
the number of shops in China to 5000 by 2021.

However its British subsidiary, at first glance, appears to be doing less well. It has
announced its first ever profit in Britain in 2015 - of just £1 million - despite opening

its first coffee shop in the UK in 1998. It now has 849 UK outlets. The main reason why
Starbucks has reported persistent losses in the UK is not due to a lack of demand for its
coffee, but to minimise its tax bill. It is claimed that some of Starbucks’ revenue earned in
the UK is transferred to its Dutch subsidiary, which is charged lower rates of tax.

Starbucks is not finding life as easy in Britain as in the USA. It faces competition from
home-grown chains such as Costa and Caffé Nero. Accusations of tax avoidance have also
damaged Starbucks' sales to the benefit of its competitors. A survey found that a third
less people rated Starbucks as their preferred coffee shop than they did before the tax-
avoidance allegations were first published.

These issues have forced Starbucks to change its strategy. It has slowed down its
expansion plans in the UK and has closed 67 underperforming coffee shops over the past
year. It has also tried to repair its reputation by transferring its European headquarters
from Amsterdam to London.

Extract B

Tax on disposable coffee cups?
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Two and a half billion disposable cups are thrown away every year in g.'_ITlg_ UK, that is,

seven million every day. Only one in 400 is recycled. The UK Environment Minister

has suggested that a coffee cup tax could work in a similar manner to the plastic bag

charge. The 5 pence a bag charge has led to an 85% reduction in the number of bags 5
being given out since October 2015. It is estimated that introducing a tax on disposable

coffee cups would cut usage by two billion every year. One environment spokesperson,

Kate Parminter, said: “We've seen how dramatically a small charge has affected public

behaviour when it comes to the plastic bags and it is clearly time to extend it to coffee

cups. Most people purchase a tea or coffee and throw away the cup without even 10
thinking about it, but a charge would increase our awareness of the environmental

impact.”

In response, another MP welcomed her comments but said he did not believe a tax was

the solution. He said: “My initial reaction is charging 5p or 10p for the cup will not work.

It will not encourage people to take their own cups in if a coffee goes up from £2.60 to 15
£2.65. | suspect a more technological answer is what we need - either the composition

of the disposable cups being changed so they're more easily recyclable, or changing the
technology in the recycling.”

Disposable coffee cups contain a plastic coating inside the cups which prevent them

from becoming soggy, making them difficult to recycle. There are just two specialist 20
facilities in the UK that have the required equipment to separate plastic from paper

for recycling. Almost no recycled paper is used in the production of disposable cups,

meaning that some 43 000 trees must be cut down annually to keep up with the

demand. COz emissions of around 83 000 tonnes are generated every year for their

production. 25

Extract C

German city of Freiburg takes action on cutting the use of disposable coffee cups

The ‘Freiburg cup), made from dishwasher-proof plastic, can be reused hundreds of times.

Cups are issued with a one-euro deposit, and can be returned to any of the participating

coffee shops in the German city. The cups, which are provided to coffee shops by local

councils, are washed in the cafés and bakeries that have signed up to the scheme before 5
being reused. 56 coffee retailers have signed up, and 10 000 cups are being used.

One of the main obstacles facing a wider-reaching scheme, however, is the number of

café chains in Germany that are unwilling to use unbranded multi-use cups, particularly
Starbucks and McDonald’s. Starbucks already offers a discounted coffee for customers

with a multi-use cup, but only if it is bearing the unmistakable Starbucks logo. 10

(a) With reference to Figure 1, briefly explain the market structure that best describes the UK
branded coffee shop market.

(b) With reference to Figure 3 and other information provided, discuss the price and non-price
strategies that Starbucks may use to increase profitability.

(c) Examine the advantages of using an indirect tax as a means of reducing the use of
disposable coffee cups.

For more help, please visit www.exampaperspractice.co.uk




EITHER

(d) Evaluate the microeconomic and macroeconomic factors that may influence Starbucks'
decision whether to expand in a particular country.

OR
(e) With reference to the information provided and your own knowledge, evaluate the

microeconomic and macroeconomic effects of increased UK demand for coffee at branded coffee
shops.

(Total for question = 50 marks)

Q10.
Markets for food and drinks high in fat, salt or sugar (HFSS)

Figure 1: UK market share of potato crisps, 2017
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Eirm Brand Size Market share ¢-Market share Price
of firm of product (£)
Walkers | All Walkers 55.3%
of which:
Regular Standard 35g 28.1% 0.45
Regqular Max 50g 7.4% 0.63
Sensations 40g 2.0% 0.59
Doritos 40g 4.7% 0.45
Other 13.1%
KP KP 509 22.7% 0.52
Tayto Golden Wonder 4.2%
<40g 3.1% 0.38
40g+ 1.1% 0.72
Other Other 17.8%
Extract A

The effects of a total ban on advertising of HFSS foods

For more help, please visit www.exampaperspractice.co.uk
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Food and drinks which are high in fat, salt or sugar, (HFS tend to pe sold in highly

concentrated markets. Tough new rules banning advertisements for HFSS products, such
as those for confectionery, fizzy drinks and potato crisps, come into effect in July 2017 as
a means to reduce consumption. The rules apply to media targeted at under-16s and will
mean a major reduction in the number of advertisements children see for HFSS products
in posters near schools, in films targeted at children, on catch-up television and in social

media if it is directed at children.

There are three main factors that will determine the effectiveness of the intervention:
first, whether advertising acts to expand the market share or steal rivals’ market share.
Secondly, how firms in the market adapt their behaviour in response to the ban. Thirdly,
what substitute products do consumers turn to if they opted out of the targeted market.

Results from a recent survey in the UK suggest that the total quantity of crisps sold would
fall by around 15% in the presence of an advertising ban, or by 10% if firms respond with
price cuts, since the ban acts to make the market more competitive and firms respond to
the ban by, on average, lowering their prices.

The survey showed that following a ban, consumers are more likely to switch to another
junk food than to a healthy food, which (in addition to the pricing response of firms) acts
to partially offset any health gains from the policy.

Extract B

Taxing HFSS foods and subsidising healthy eating widens inequality

Since low-income groups spend a higher proportion of their income on food and tend to
eat less healthily, they are the main targets of taxes on products that are high in fat, salt
or sugar (HFSS). Subsidies on healthy food are seen as an alternative policy approach to
encourage healthy eating. While data on the impact of such policies are scarce, a recent
study on the distributional impacts of HFSS taxes and healthy food subsidies found that
these actually widened health and fiscal inequalities. The policies tend to be regressive
and favour higher-income consumers. Taxes on unhealthy food increase prices which
have a greater impact on low income groups rather than higher income groups. Lower
income groups prefer to buy HFSS food.

Subsidies encouraged all income groups to buy more fruit and vegetables. However,
those on higher incomes proved more responsive and the average share of budget spent
on healthy food actually increased for the higher income groups who were more likely
to buy the subsidised healthy food and then spend the savings they had enjoyed on yet
more healthy food. The diets of the higher income groups before the subsidy tended

to be healthier. The choices of the higher income groups are more responsive to price
changes. By contrast, lower income groups, if they responded to lower prices, often
used the money saved to buy unhealthy items or something else entirely. The long-term
benefits of a healthier diet are harder to grasp for consumers when information gaps
exist. Often the immediate boost of a tasty treat is more appealing. Taxes and subsidies
do not change that. Other strategies are needed to promote healthy eating, especially
education.

For more help, please visit www.exampaperspractice.co.uk
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Extract C

Tax on fatty foods in Denmark is an economic disaster

Denmark introduced a specific tax on saturated fat in October 2011. Recognised as a
world-leading public health policy, it was abandoned just 15 months later having been
both an economic and political disaster.

Indirect taxes of this sort are invariably regressive, disproportionately affecting the 5
elderly and the poor. The specific tax led to prices rising on average 15% for highest-fat
products, yielding a total decrease of 5% in the intake of saturated fat from products such

as minced beef and cream. 80% of Danish consumers did not change their shopping

habits at all. The behavioural change was economically damaging as consumers switched

to cheaper brands and crossed the border to Sweden and Germany to do their shopping. 10
Danish tax revenue fell as a result.

(a) With reference to Figure 1 and Extract A, explain what is meant by a 'highly concentrated'
market for potato crisps (Extract A, lines 2-3).

(b) Apart from changes in indirect taxes and subsidies, examine two causes of income
inequality within a developed economy such as the UK.

(c) In Extract A, lines 15-16, it was suggested that some firms may respond to the advertising
ban by cutting the prices of their products.

Using game theory and the information provided in Figure 1 and Extract A, discuss the effects
on firms of cutting prices in an oligopolistic market.

EITHER

(d) Evaluate the microeconomic and macroeconomic effects of increased government spending
on education to promote healthy eating in the UK.

OR

(e) Evaluate the likely microeconomic and macroeconomic effects of imposing a tax on HFSS
foods.

(Total for question = 50 marks)



Q11.

Figure 1 shows the distribution of the revenue received from the sale of a Starbucks cappuccino
drink priced at £2.27 in 2015.

Figure 1

Coffee 4%
Milk 49%
Packaging 8%
Rent/rates 15%

Admin/

overheads 15%
Labour 24%
VAT 17%
Profit 13%

(a) Which one of the following is a fixed cost to Starbucks?

A Coffee
B Milk

C Packaging

O 0O O O

D Rent

(b) Explain the difference between fixed costs and variable costs.



(c) With reference to Figure 1, calculate the profit (in, pence) for a cappuccino drink. You are
advised to show your working.

(Total for question = 5 marks)

Q1l12.

(a) With reference to Figure 1, explain one possible cause of the forecast change in total energy
use.

(b) With reference to Figure 4, examine the likely impact on the USA's circular flow of income of
the trends in exports and imports of natural gas between 2000 and 2020.

(c) With reference to the information provided, discuss the likely impact of a change in the price
of gas on the markets for solar energy and nuclear energy.

EITHER

(d) With reference to the information provided and your own knowledge, evaluate the possible
microeconomic and macroeconomic effects on the UK economy of a decision by the government
to encourage fracking.

OR



(e) With reference to the information provided,and your own knowledge, evaluate the possible
microeconomic and macroeconomic effects on the global economy of lower energy prices.

(Total for question = 50 marks)

Q13.

(a) Explain the difference between 'good' deflation (Extract B, line 16) and 'bad' deflation
(Extract B, line 27).

(b) With reference to Figure 1 and Extract A, examine the likely reasons for the fall in oil prices
since the middle of 2014.

(c) With reference to Extract A, discuss the factors necessary for the success of a cartel.

EITHER

(d) With reference to the information provided and your own knowledge, evaluate the
microeconomic and macroeconomic effects of a sustained period of deflation.

OR

(e) With reference to the information provided and your own knowledge, evaluate the
microeconomic and macroeconomic effects of a sustained fall in global oil prices.

(Total for question = 50 marks)
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Q14.
The UK economy

Figure 3: GDP per hour worked, nominal values at PPPs, percentage above or below
UK level, 2018
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Figure 5: Proportion of adults with IovyAUtgfg,gyngmgéor numeracy skills, by age,
selected countries
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Extract D

The end of the High Street?

Homebase, the UK's second-largest do-it-yourself (DIY) retailer, made £20-40 million a

year profit up to 2016. The Australian conglomerate Wesfarmers bought Homebase for

£340 million in 2016, and began to rebrand 24 stores under its own name. It scaled back on
curtain, cushion and other homeware sales in favour of power tools and building materials. 5
In 2018 Wesfarmers sold the DIY chain for £1, in the face of “extremely challenging” market
conditions and excess store space. The chain was bought by restructuring specialist

Hilco, which had also rescued the music chain HMV in 2013, and the stores have gone back

to using the Homebase name. Over 70% of Homebase stores are currently losing money

and the new owner wants to exit loss-making stores and agree to rent reductions, as sales 10
fell 109 in 2018. Homebase has gone back to popular products and brands dropped by its
previous owner Wesfarmers.

The closures will add to the mounting job losses on Britain's high streets. About 25000 jobs

have gone in the first seven months of 2018, according to analysis by an economics

thinktank. A further 8 300 jobs are under threat at suppliers, with the multiplier effect 15
meaning that GDP is £1.5 billion less than projected.

Several Marks & Spencer clothing stores closed their doors for the last time as the

high-street chain pushes ahead with a transformation plan. It plans to close 100 stores

by 2022.Toys R Us, Poundworld and Maplin have shut down completely, while New Look,
Mothercare and Carpetright have plans to close hundreds of stores as losses rise sharply. 20
Increasing rents and higher business rates have occurred at the same time as falling

consumer confidence. Meanwhile, House of Fraser employees and pensioners are nervously
awaiting more details about their future. The £90 million rescue deal by Sports Direct, the
sportswear chain controlled by Mike Ashley, will protect 16000 jobs for the time being.

(a) With specific reference to Figure 3, explain why productivity is measured by 'GDP per hour
worked, nominal values at PPPs'.

(5)
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(b) Apart from literacy and numeracy skills,in young workers, examine one reason for the trend
in productivity in the UK, over the period shown in Figure 4.

(c) Discuss factors that are causing many high street retailers in the UK to close some branches
or shut down completely.

Use a cost and revenue diagram to support your answer.

EITHER

(d) Evaluate possible microeconomic and macroeconomic policies which could be used to
improve UK competitiveness.

OR

(e) Evaluate the microeconomic and macroeconomic effects of a decline in the literacy and
numeracy skills of a country's young workers.

(Total for question = 50 marks)

Q15.

In 2015 JCB, the construction equipment manufacturer, experienced a 6% fall in revenue. This
resulted from a reduction in sales of construction equipment to emerging markets.

(a) Draw a cost and revenue diagram to show the likely impact of a reduction in sales of
construction equipment on JCB's profits.



(b) InIndia JCB has a strong brand image and a 50% share of the market for construction
equipment. This means the construction equipment market in India is likely to have a low level
of:

A concentration
B contestability

C private ownership

O O O O

D specialisation

(Total for question = 5 marks)



